>
N & 0 & AF &2 8 A A
20219 = S0l & LB H MSAY
S RS = Faig=a i,
Yy MSNE 245
oelr ASHE 84 X CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
bR E=galgeainly 30,025,061 29,369, 309 655,752
s 402,000
J| 2,296,816
= 2,540,474
Al 19,785,771
T 5,000,000
Hsds 243 10,094,100 9,075,191 1,018,909
J| 1,116,816
< 1,040,474
Al 7,936,810
isds g4 XA 5,183,280 4,798,594 384,686
J| 165,000
< 160,240
Al 4,858,040
Hsdssd 2d 23N 6,880 6,880 0
201 Let24d] 2,880 2,880 0
01 At 22l 2,880 2,880 0
OM=RI2AHSUHE RAU/AAE 29 2,880
203 YR =&l 4,000 4,000 0
03 AIMF=XH R =AY 4,000 4,000 0
O24Z MM B2 L &2 4,000
MEHNE HANEK 29 67,742 61,055 6,687
301 LPEXZ 67,742 61,055 6,687
12 JIEE 4= 67,742 61,055 6,687
OMEX =& XTIt 59,214
[ DNESSNISRN 2,039,000 x2H x12& 48,936
OEZN =g 50,000 x1H » 128 600
[ _JmE=g:]l 200,000& x2H 128 4,800
( JSESE= 2,039,000 »2H 4,078
@ E S 0tHl 200,000& x2H +23| 800
O=0AHSEES 2,039,000 x2H 122 «4.5% 2,203
OAHLEBEFEE S 2,039,000 x2H x12& %3.43% 1,679
OWINRLYEEZREZ 1,679,000& *10.25% 173
COLEEE=RES
2,039,000& x2H 12 x1.55% 759
OdMEE= 2,039,000& »2F x12& x1.213% 594
OFUZAHI 130,000& x2H x12& 3,120
NYeSPIR 29 1,671,150 1,696,276 £25,126
301 LEHZ 1,671,150 1,696,276 225,126
No=d - 2S2S243 1,671,150 1,696,276 N25,126
O30 (Z=3%,d+19Y) 1,151,472
O&d== AJIREHI 100,000




2A: MsAS D
M gdE 243
o9 HSXE 84 N (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OXaZ 1,500,000& *x403] 60,000
O=dEg3 300, 0003 »22H *23| 13,200
O Il =2t 1,075,000 x22H %23 47,300
oz &dH| 70,0003 »22H x5 x4 3| 30,800
(OFSPARSI=N:] 70,0003 x22H x40 61,600
OFAMIX = 2,000,000& x44H 8,000
OSXEQE 800,000& x22H 17,600
(@)= ESE=; 6,000,000& x9H 54,000
oO=0dZ282 1,151,472,000& *4 .5% 51,817
oO=20AHAUBHELZ 1,151,472 ,000& *3.43% 39,496
OLEINQLYLEHRHZ
39,496,000& *10.25% 4,049
onEs=2gssdd= 1,151,472,000& *1.55% 17,848
odMEERHZ2 1,151,472,000& *1.213% 13,968
MNEA2SHINRHs g4 29 Y FH XA 303,600 303,600 0
201 et A | 263,600 263,600 0
01 AFR2t2ldl 195,600 195,600 0
O&=2 1,100,000& *12& =3Il A 39,600
O3l 720,000& 10 18Y 129,600
O 2tAl Y| 120,000& = 10& x22H 26,400
02 33249l 68,000 68,000 0
O332=2 % HA 19,200
@& =4 500,000& 128 3l A 18,000
QOHAER = E 100,000& = 12& 1,200
O A& & H|l K X Hl| 48,800
OAMNOIZRES 7Y 12,400,000& *23| 24,800
[ D= =1l 500,000& =40 = 12& 24,000
405 XHo&HF SHI 40,000 40,000 0
01 AL =2 EF SHI 40,000 40,000 0
OAOIZ28 MOIZ 7€ 40,000
NE2SZEIR 2EXA 55,000 57,000 A 2,000
= 55,000
301 dEtE A= 55,000 57,000 A 2,000
& 55,000
W=t - 2s2SE242 55,000 57,000 A 2,000
NE2SHEIR 29 55,000
& 55,000
HdFAMES 29 XA 836, 149 777,000 59,149
307 212t01 & 826,149 762,000 64,149
03 AAHNEESIHES 826,149 762,000 64,149
Od=AMEE 298 XN 826,149
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2N
X ZH -
L= B

el

M= At ed ot
HEXNE 43
H=dg 54 X2

SA BB O () - MM - HES 0l &+ o4 il
Al 14,240
307 BI2t0| & 44,480 44,480
< 30,240
Al 14,240
02 DI2HBAMAIEE X 44,480 44,480
ORad E72na 29 20,280
= 6,040
Al 14,240
ORad =203 17,000
= 17,000
OfRa2dE s N = 7,200
< 7,200
SAHA2 =221 2¢ 90,000 90,000
307 glz2tol & 90,000 90,000
02 IZtE M AMHEE 90,000 90,000
OENE =221 2¢ 90,000
HE HHEAZ AE3H 90,000 90,000
= 45,000
Al 45,000
307 giz2+ol & 90,000 90,000
= 45,000
Al 45,000
02 BIZHA MM E X 90,000 90,000
OYE HEAZ AME=A 90,000
= 45,000
Al 45,000
d=22HUE 5x duEA 15,000 15,000
207 Ao 2| 15,000 15,000
01 A ESHI 15,000 15,000
OX==HUz | =4 15,000
Za 2435 MY 30,000 30,000
= 10,000
Al 20,000
307 2Iz2t0l A 30,000 30,000
= 10,000
Al 20,000
02 IZtE M AHEE 30,000 30,000
Oxs 43 MY 30,000
== 10,000
Al 20,000
M=z 29 XA 2,290,915 2,149,975
< 540,000
Al 1,750,915
H=AZTH dEXH=s dIU=U3 3,600 3,600




2AM: Mo
=ds

3 NENE 243
oS M =29 A
SH - BAEA) - MRAY - BES Of &t o il
307 glztol & 3,600 3,600
04 QIZHHALALH B £ 3,600 3,600
ON193 HFAIHH dEMs A== 3,600
A=A HEMSE ISV AUE 4,500 4,500
307 glztol & 4,500 4,500
04 QIZtHAALE 2 = 4,500 4,500
ON102 MFAIYH M dSHAAUS 4,500
SFAEH HEHMS SIN=U2 7,000 7,000
307 212t0 & 7,000 7,000
04 QIESHALALE B = 7,000 7,000
OM202 H=AIZH H2H=F SII1=U2 7,000
HFAIZH dEHs 25403 5,000 5,000
307 212t0l & 5,000 5,000
04 DIZHSHALALH 2 £ 5,000 5,000
OM72 HFAZTHH HEMS 2= 5,000
dFAIEH d2Hs 2CEEFEIBICINHE 8,550 8,550
307 glztol & 8,550 8,550
04 QIZHSHALALH B £ 8,550 8,550
OHM143 H=AZUH MEHNS 2C0LLIRE
clisl 8,550
SN 4E2HME 024 ANOE=UZ 5,000 5,000
307 212t0l & 5,000 5,000
04 QIZHSHALALH 2 £ 5,000 5,000
ORH263 HFAHH HEHMSE 2 AHNOE=
tHal 5,000
HFAEH HEHSs 88 0H2ESZHE 5,000 5,000
307 212t0l & 5,000 5,000
04 QIESHALALE B = 5,000 5,000
OMN73 HFAIZH HEHS d50cdt2==2
tHal 5,000
AT HEHSE d=Hel=ct0lE U3 6,300 6.300
307 212t0l & 6,300 6,300
04 QIESHAALE B = 6,300 6,300
OHM172l =AY M= A=A =ct0l
=R e 6,300
A=A HEHMS =s013U3 5,000 5,000
307 glztol & 5,000 5,000
04 QIZEHAALE 2 = 5,000 5,000




2N

3 NENE 243
?el =i 29 X

SA -3 S2A(3A) - MR A Bd= Off &t 24 %Ei Hnsz
OHN9El HFAZ SEH= =eo=03] 5,000
WEATH MEHS +4AIA0NIZEYS 9,000 9,000 0
307 2I2H0] 9,000 9,000 0
04 QI AN BT 9,000 9,000 0
ON8E HEAZU MBHS 423189013
EXSE 9,000
S=AZTH dEHS AFAIWE 7,650 8,550 A 900
307 2120l & 7,650 8,550 A900
04 BIZHAA S 2T 7,650 8,550 £.900
ON153 ®FAF MBHS AFALS 7,650
HMEANTH MBHS HRSSAANOYHS 9,500 9,500 0
307 212+0I & 9,500 9,500 0
04 QI AN BT 9,500 9,500 0
ON178] WFEATH SBHS I=2SSAAY
VEIE 9,500
WEATH YEHS IRUSBYSTUS 9,400 9,400 0
307 2120l & 9,400 9,400 0
04 BIZSAA S 2T 9,400 9,400 0
ON183 WFAFH MEHS Z2(HSYS
203 9,400
MEAZH MBHS SOEOIHS 5,000 5,000 0
307 2120l & 5,000 5,000 0
04 QIZFEAFALR & T 5,000 5,000 0
ON8sl HFEAZH MBHS SOEOIHS 5,000
BEAZH MEHS LHIBIHS 5,000 5,000 0
307 21201 & 5,000 5,000 0
04 QIS AN S BT 5,000 5,000 0
ON8E HFEAZU MEBHS LHBIZHS 5,000
HEADH MEHS AGABEHS 16,000 16,000 0
307 21201 & 16,000 16,000 0
04 QIZHEHALALSE B = 16,000 16,000 0
O 163 HEAIH MBHS A3AL2 0
cl 16,000
BEANDH YBHES AAATHHS 4,500 4,500 0
307 2I2H0I & 4,500 4,500 0
04 QI A AL T 4,500 4,500 0
ON8E MFEATH MEHS A2AATHH3 4,500
BEATH MEHS BLHS 6,000 6,000 0




A MAYL
HHM: HRANE 2435
G A=z &9 JH (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 6,000 6,000 0
04 SIZ2ISHAAIH E & 6,000 6,000 0
OHM143] MFAIZH MEMNME 2= 6,000
=AU MEHSE 82 3203 9,500 9,500 0
307 2izto| A 9,500 9,500 0]
04 QIZ2tSHALALS B X 9,500 9,500 0
OHM233 HMFAIEH MEHNSE 82 S2UI 9,500
HFEAEH MEHSE ¥3=2x2F 520U 3 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
04 CIZ2tSHALALS B X 10,000 10,000 0
OHM183 MFAIEH MENE d3=2axd FSF2U
3| 10,000
HNF=AIEE MENHSs 2S00 S4EI|IU3 4,500 4,500 0
307 QI2t0| ™ 4,500 4,500 0
04 QIZ2tSHALALS B = 4,500 4,500 0
OHM17a MFAIEH MEH= MaA=Z2 =4
JICH 3l 4,500
MF=AIEH MEHSE d2EHAUE 5,000 5,000 0
307 2iz2to| & 5,000 5,000 0
04 QIZ2tSHAFAFS B X 5,000 5,000 0
OHM223 MFAIEH MENS d2HAUS 5,000
MF=AIEH MEHNSE HIA2ZE 8,000 5,000 3,000
307 QI2t0| & 8,000 5,000 3,000
04 CIZ2tSHALALS B = 8,000 5,000 3,000
OMb53 MFTAIEH MEHNE HIASZAE 8,000
HFEAIEH 220 MEHET HAUS 10,000 10,000 0
307 QI2t0| & 10,000 10,000 0
04 CIZ2tSHALALS B X 10,000 10,000 0
OHM263 H=AIZHN Re2lJter MEtH X FAl
3 10,000
HEAIEH MEHMS T4 S0IEUH S 9,500 5,000 4,500
307 QI2t0| ™ 9,500 5,000 4,500
04 CIZ2tSHAPALS B X 9,500 5,000 4,500
OXF=AIEH MEXNs T4 S0 9,500
M=AIZE 2IU & 7,000 5,000 2,000
307 212t0| & 7,000 5,000 2,000
04 SIZ2ISHAAISHE E X 7,000 5,000 2,000
O M43 HF=AIEU IS 7,000




2AM: Mo
=ds

M MEdE #4358
2 M 29 X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
dF=AEH &= Ol=HUANE 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DI2ZHHALALSE E X 6,000 6,000 0
OHM163 MEFAIZEH &= Ol=HLIANE 6,000
SF=AZH MEHS HAATZXS 5,000 4,500 500
307 glz2tol & 5,000 4,500 500
04 QIZFHALALH 2 = 5,000 4,500 500
OMBal MFAZH MBS HAALXYS 5,000
HEdm NS d2Ua &8 X 5,000 3,000 2,000
307 21201 A 5,000 3,000 2,000
02 QB AAGFEX 5,000 3,000 2,000
oOllsSdHl M2 deis & XI& 5,000
HFEAFI 8= 238w =& 02U 3 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIR B = 6,000 6,000 0
OM13al dFAIEHI 82 =T =& O
203 6,000
H=AIZEE A 4,500 4,500 0
307 21201 A 4,500 4,500 0
04 QIZFHALAIH B = 4,500 4,500 0
OM183l HF=AIZEH LA 4,500
=N =S5 € EL2ESEUE =71U3E 17,000 17,500 A 500
307 21201 A 17,000 17,500 A 500
04 DIZHHALALSE E X 17,000 17,500 A 500
OHM253 MFAIEH =S532U3 £ H103
FAHSEUHEY =203 17,000
HFAEI L HdFAEH EHEE WS 9,000 9,000 0
307 21201 A 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0
OHM28al dFAIEI ¥ HM183 HFAIEH
HEd U3 9,000
HFAIED| S4US 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OXN8sl MxF=AIEI s&U= 5,000
H=AIZH BP0 5,400 6,000 A 600
307 21201 A 5,400 6,000 A 600
04 QIZFHALAIH B & 5,400 6,000 A 600




SN HSSYD
M Neds 2435
@2 dA=x0s 29 N (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OM108 EZ=AIXE HRUS 5,400
HdF=AEH 2EHsAUHS 5,000 5,000 0
307 QI2t0| & 5,000 5,000 0
04 QIZISHALAIE B2 X 5,000 5,000 0
OM18a &=AlEH 2H=AHS 5,000
HF=AIEH &=20t0tBIS U & 10,000 20,000 A 10,000
307 QI2t0| ™ 10,000 20,000 A 10,000
04 DI2FSHALAIE 2 X 10,000 20,000 A 10,000
OHM163 MFAIEUI & =20t0tBt=CH S 10,000
MF=AEH 203 7,290 8,100 A 810
307 QI2t0| M 7,290 8,100 A 810
04 QIZHSHAFAIRE 2 X 7,290 8,100 A 810
OHM193] EF=AIEH s370U 3 7,290
HNFAEH A=2ESS0 L HEA ERUF 12,200 12,500 A 300
307 212t01 & 12,200 12,500 A 300
04 QIZHSHAFAIE 2 X 12,200 12,500 A 300
OM283 HF=AIEH F2LLESSQ2 L HE A
EAH S 12,200
MF=AEH SECHS 8,000 6,000 2,000
307 212t01 & 8,000 6,000 2,000
04 DIZHSHAFAIRHE 2 X 8,000 6,000 2,000
OHM253 EFAIEB U3 8,000
HFAED AU E 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OM243 AZ=AI&EI| EHA =TS 5,000
MF=AIEH & S & HUAUE 7,250 7,500 N 250
307 QI2t0| M 7,250 7,500 N 250
04 QI2SHALAIE E = 7,250 7,500 N 250
OHM283 &=AlEH & H 183 3l &HH HiL
A3 7,250
HFAIEH L MEHS BHECIHU S 9,500 9,500 0
307 QI2t01 & 9,500 9,500 0
04 QIZHSHALAIE B2 X 9,500 9,500 0
OHM113 AI&EH ¥ X313 M=AEH M2
= HHEUEWHS 9,500
HEAEH S2SUHE RS 10,000 10,000 0
307 212t01 & 10,000 10,000 0




AN MSAS B
3N MedE 24
gelr stz 29

| & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 10,000 10,000 0
OHM2538] 8=AIZH SHUHE tH2Ua 10,000
HFAEI =2U3 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0
OHM293 M=AIEI| E2U3 9,000
H=AZH =23 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B & 6,000 6,000 0
OHM172l M=AIZH =Z U3 6,000
HFAIED 403 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
ON4s MFAIEI| S&US 5,000
HZ=ALI(OH0)-212 S2US (I IEEXH) 44,000 30,000 14,000
307 g1zl & 44,000 30,000 14,000
02 LIt MAHEE 44,000 30,000 14,000
OFX=Al I(0t0)-210 &7 U3 44,000
dEdAM0etEHS &=H 7,000 5,000 2,000
307 21201 A 7,000 5,000 2,000
02 HAFAAHEX 7,000 5,000 2,000
ORM332 d=dditetEUz &8 7,000
Sl FEFDA 2F 7,000 7,000 0
307 21201 A 7,000 7,000 0
02 It S AHEE L 7,000 7,000 0
CERN RN E X 7,000
CoMENsSHe =8 95,500 95,500 0
307 glz2tol & 95,500 95,500 0
02 PIZtE M AHE X 95,500 95,500 0
OERMEHNSUE &=H 95,500
ToM=sUs &H 134,425 134,425 0
307 glz2tol & 134,425 134,425 0
02 IZtE M AMHEE 134,425 134,425 0
OxelN=s &A 134,425
dIHE S s 14,500 14,500 0
307 21201 A 14,500 14,500 0
02 QAHFAAHEX 14,500 14,500 0




2AM: Mo
=ds

M MEdE #4358
2 M 29 X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OX=HAE s E2dXE 14,500
ZOelM=sHa s8I 63,000 57,000 6,000
301 LEAS 15,000 15,000 0
12 JIEtEA S 15,000 15,000 0
Od=HMUM=EUHa XA 15,000
307 21201 A 48,000 42,000 6,000
02 UAFAAFEX 48,000 42,000 6,000
o&= =02l M=Eds =d 7,000
Od=E NMEMAL MU &2& 6,000
o&= FoHe M=sds =4d 35,000
H=AIZEE ZOHQ eSS 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OF=AIZEH ZOHel MEXSUHS 5,000
I8 H2dEd s &= 10,000 5,000 5,000
307 glz2tol & 10,000 5,000 5,000
02 It M AMHEE 10,000 5,000 5,000
Od= HzHMMaHsEUE &= 10,000
45 ddadsis = 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 QB LA EX 20,000 20,000 0
Od= Hddzgd=slz £ 20,000
H=AZH SZ¢e ksl 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZFHALALSE E X 6,000 6,000 0
OHM128 HMFAIEE 52 Ot UH3l 6,000
H=AZTH Hd L RERAME ANOESUHE 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE 2 X 5,000 5,000 0
OHM158 EFAIZH O X RRAY AHOIE
=3l 5,000
dIHLg=s203 &H 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 DIZHHALALSE E X 2,500 2,500 0
Od=0E=EU2 &H 2,500
dF=ARS AZE RAS EEI| 25 2,700 2,700 0
307 glz2tol & 2,700 2,700 0
04 DIZHHALAISE E X 2,700 2,700 0




2N

M MEdE #4358
2 M 29 X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFFAIR HLE RAS =E2EII 223 2,700
elS0E X3 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
02 QIZtE M AHE X 30,000 30,000 0
O&dF=gite| S0k X & 15,000
OFF=RAHTH XA 15,000
d=20ct2ESZHs &d 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
04 DI2HHALALSE E X 2,000 2,000 0
oMz Net2EZ2ZUs &=H 2,000
M2 IH Zxdo OtetEUs &3 4,000 0 4,000
307 glz2tol & 4,000 0 4,000
04 QIZFHALAIH E = 4,000 0 4,000
OMZ2 =M 2HMJ OtctEdz &d 4,000
HFEE FIMAAEZUE 275,000 275,000 0
< 75,000
Al 200,000
307 21201 A 275,000 275,000 0
< 75,000
Al 200,000
04 QIZFHALAIH B & 275,000 275,000 0
OE=2L2E ZHMEHAZUS 275,000
< 75,000
Al 200,000
A== EEoletolitetE 2 190,000 190,000 0
< 90,000
Al 100,000
307 glz2tol & 190,000 190,000 0
< 90,000
Al 100,000
04 DI2ZHHALALSE E X 190,000 190,000 0
Od= L leteltttEWS 190,000
< 90,000
Al 100,000
Ol SHl M=30t0tHtS =AU E 35,650 35,650 0
< 10,000
Al 25,650
307 glz2+ol & 35,650 35,650 0
< 10,000
Al 25,650
04 QIZFHALAIH B = 35,650 0 35,650
OO0lZ =t dZ20I0tHtSd=A T2l 35,650




2N

M MEdE #4358
2 M 29 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

< 10,000
Al 25,650

d=22II=0tctEH S 25,000 35,000 A 10,000
< 15,000
Al 10,000

307 glz2tol & 25,000 35,000 A 10,000
= 15,000
Al 10,000

04 DI2HHALALSE E X 25,000 35,000 A 10,000
OE=R=RII=0I2tEWH 3 25,000
< 15,000
Al 10,000

SHUSABRHBI| IS MAOI2 TS 85,000 85,000 0
< 15,000
Al 70,000

307 glz2tol & 85,000 85,000 0
< 15,000
Al 70,000

04 QIZFHALAIH B = 85,000 85,000 0
OFsN=a22Z2)| H=st4A02UHE 85,000
< 15,000
Al 70,000

H=5t=20t2 MIBECIEHS 50,000 50,000 0
< 15,000
Al 35,000

307 21201 A 50,000 50,000 0
< 15,000
Al 35,000

04 DIZHHALALSE E X 50,000 50,000 0
OX=ct=20t2 Id=ELES WS 50,000
< 15,000
Al 35,000

dFe=202 832EH 32 U3 78,000 78,000 0
S 13,000
Al 65,000

307 glz2tol & 78,000 78,000 0
< 13,000
Al 65,000

04 QIZFHALAIH E = 78,000 78,000 0
OXd=et=20tS 8= S35 U= 78,000
= 13,000
Al 65,000

d=st=20ts A=2FF70U3E 60,000 60,000 0
< 5,000
Al 55,000

307 21201 A 60,000 60,000 0




2N

M MEdE #4358
2 M 29 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

< 5,000
Al 55,000

04 QIZFHALAIH E = 60,000 60,000 0
OXFES0IE HRE20S 60,000
< 5,000
Al 55,000

HdFER0I2 AX=ZS2H01YSS A3 20,000 35,000 A 15,000
= 5,000
Al 15,000

307 21201 A 20,000 35,000 A 15,000
< 5,000
Al 15,000

04 QIZFHALAIR B = 20,000 35,000 A 15,000
Od=e=20ts AZ=Z2cH0|U=S U 20,000
< 5,000
Al 15,000

dFst=202 d=H=0s 20,000 40,000 A20,000
< 20,000

307 glz2tol & 20,000 40,000 220,000
< 20,000

04 DIZHHALALSE E X 20,000 40,000 A20,000
OX=&t=20t2 d3HSUS 20,000
< 20,000

d=st=20ts dI2A=4 U3 30,000 30,000 0
< 10,000
Al 20,000

307 glz2+ol & 30,000 30,000 0
< 10,000
Al 20,000

04 QIZFHALAIH B = 30,000 30,000 0
OXFEASO0ISE H2UZAHS 30,000
< 10,000
Al 20,000

HFE20E MEHE d30dS20U3E 15,000 15,000 0
< 5,000
Al 10,000

307 21201 A 15,000 15,000 0
< 5,000
Al 10,000

04 DIZHHALALSE E X 15,000 15,000 0
O&d=8t=20I2 MENSE d=20HLEES2UHSE 15,000
< 5,000
Al 10,000

W d=AFHANE=AUE 37,000 37,000 0
< 12,000




AN MSAS B
3N MedE 24
gelr stz 29

2 (e a2
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

Al 25,000

307 2iz2to| A 37,000 37,000 0
= 12,000
Al 25,000

04 DIZ2tSHAFALS B X 37,000 37,000 0
OB HIAHALLANS 37,000
= 12,000
Al 25,000

Hst=2 €3 &0 =223 105,000 105,000 0
=} 30,000
Al 75,000

307 QI2t0| ™ 105,000 105,000 0
= 30,000
Al 75,000

04 CIZ2tSH AFALS B X 105,000 105,000 0
OUst=4d 83 & M=2=22U3 105,000
= 30,000
Al 75,000

FH M= zNSsW 2EU3F 70,000 70,000 0
= 20,000
Al 50,000

307 2I2t0| & 70,000 70,000 0
o= 20,000
Al 50,000

04 SIZ2HSHAAISH E & 70,000 70,000 0
OFH d=2 =D& Hd=U3 70,000
= 20,000
Al 50,000

NFAEUN d2HEHZ2E=US 30,000 35,000 5,000
& 10,000
Al 20,000

307 giztol A 30,000 35,000 A5,000
< 10,000
Al 20,000

04 CIZ2tSHALALSE B = 30,000 35,000 A5,000
OFFAAY MILHHIZUI 30,000
= 10,000
Al 20,000

OFAIOIII =2 =3 T 3 60,000 60,000 0
& 60,000

307 QI2t0| ™ 60,000 60,000 0
& 60,000

04 CIZ2tSHALALS B X 60,000 60,000 0
OOtAIOtY =S8 +=A U 3 60,000
& 60,000




AN MSAS B
3N MedE 24
gelr stz 29

2 CUR-E)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

Hesgm 8=2+=3Uzal 120,000 0 120,000
= 20,000
Al 100,000

307 ©12+0I & 120,000 0 120,000
< 20,000
Al 100,000

04 DIZHHALALSE E X 120,000 0 120,000
CUERT I ERENE 120,000
= 20,000
Al 100,000

I XM ZOH M= CHE 90,000 0 90,000
< 60,000
Al 30,000

307 glz2+0l & 90,000 0 90,000
< 60,000
Al 30,000

04 QIZFHALAIH B = 90,000 0 90,000
OFSE=PNPSIESgV Rl bs/E=gi ko 90,000
< 60,000
Al 30,000

HIALX2Y DR 100,000 0 100,000
= 50,000
Al 50,000

307 21201 A 100,000 0 100,000
< 50,000
Al 50,000

04 DIZFHALALSE E X 100,000 0 100,000
OHZAZZIY DU 100,000
< 50,000
Al 50,000

MEs 243 XA 2,619,905 2,126,622 493,283
Jl 951,816
< 340,234
Al 1,327,855

2ot MEHSXEZX BIX 337,120 314,752 22,368
J| 146,160
Al 190,960

307 Q12+0I & 337,120 314,752 22,368
J| 146,160
Al 190,960

02 IZHEHAHE L 337,120 314,752 22,368
OXNEX 20 ¥ HERES 292,320
J| 146,160
Al 146,160
OXNEX =% 44,800




- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
HEa MEMFX X B X 303,528 287,982 15,546
J| 131,544
Al 171,984
307 2Iz2t0| A 303,528 287,982 15,546
Jl 131,544
Al 171,984
02 QIZHEAAIRE E X 303,528 287,982 15,546
OXNEX 20 & =2 263,088
J| 131,544
Al 131,544
OXNZX =< 40,440
heolmet 22 MER =2 45,000 40,000 5,000
< 15,000
Al 30,000
307 212t0| & 45,000 40,000 5,000
o= 15,000
Al 30,000
02 DIZHEAAIE E X 45,000 40,000 5,000
OUstoITe 28 MEHST20Y 29 45,000
= 15,000
Al 30,000
MEHYNAY 24 142,678 158, 300 A 15,622
& 42,803
Al 99,875
307 2iz2to| & 142,678 158,300 N 15,622
& 42,803
Al 99,875
02 QIZ2FAAAIE E X 142,678 158,300 N 15,622
OMEMN=ENA 2 142,678
o= 42,803
Al 99,875
HEA ZOHQ MEH W 18,000 18,000 0
307 QI2t0| & 18,000 18,000 0
02 AI2tAAMAIE E =X 18,000 18,000 0
O&F=Al HOHQ! 18,000
ZHoHQl MEM =X =X HH X 268,736 57,183 211,553
| 116,928
Al 151,808
307 212t0| & 268,736 57,183 211,553
J| 116,928
Al 151,808
02 IZEBAAIRE E X 268,736 57,183 211,553
OXNEX 20 & Py = 233,856
J| 116,928
Al 116,928
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2M: MK

o}
Yy MSNE 245
te: MEHs 243 I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 518,784
& 111,168
Al 111,168
301 et A= 741,120 617,600 123,520
J| 518,784
& 111,168
Al 111,168
01 Al E & A 46 2 741,120 617,600 123,520
OAEZ=2AX0I=A K& 741,120
J| 518,784
& 111,168
Al 111,168
ool AZT =202 XS 6,400 2,560 3,840
J| 4,480
=} 960
Al 960
301 et M= 6,400 2,560 3,840
J| 4,480
= 960
Al 960
01 M EXEE 4562 6,400 2,560 3,840
O&IAZT=AZOIEH XS 6,400
J| 4,480
& 960
Al 960
dEALZIXEE 2N 80,000 25,000 55,000
== 25,000
Al 55,000
307 2iz2to| & 80,000 25,000 55,000
== 25,000
Al 55,000
02 QIZFA AAIE E X 80,000 25,000 55,000
OF=AZLXZIYH I 80,000
= 25,000
Al 55,000
HFHAIAZZ=E2YE 2K 70,000 30,000 40,000
= 20,000
Al 50,000
307 ciztol A 70,000 30,000 40,000
= 20,000
Al 50,000
02 AI2tAAMAIE E =X 70,000 30,000 40,000
ONFHEAZ=Z2YE 291 70,000
& 20,000
Al 50,000
HFEALXSYH S (2 EFXL) 30,000 30,000 0

_20_




S RS = Faig=a i,
g MsdE 2435
ool MEIS BAE XY CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 30,000 30,000 0
02 PIZHEHAHEE 30,000 30,000 0
O=AZ=Z2Y 2IXA 30,000
St SOHA & 78,080 34,560 43,520
J| 33,920
< 10,880
Al 33,280
301 LEEAS 78,080 34,560 43,520
J| 33,920
< 10,880
Al 33,280
01 MEIBEE 2053 78,080 34,560 43,520
Ot =0 E 78,080
J| 33,920
< 10,880
Al 33,280
s 243 19,869, 185 20,232,342 A 363,157
s 402,000
J| 1,180,000
< 1,500,000
Al 11,787,185
T 5,000,000
HM=XsAME XA 19,869, 185 20,232,342 A 363,157
s 402,000
J| 1,180,000
< 1,500,000
Al 11,787,185
T 5,000,000
ma==d A2 45,000 40,000 5,000
201 2et2d]| 5,000 0 5,000
02 2324l 5,000 0 5,000
om3za==zd KA 2e 5,000
401 Al HIZ 201 I 40,000 40,000 0
01 A& HI 40,000 40,000 0
oma==zd FA2el 40,000
d=F AdUds2 A 5,000,000 3,000,000 2,000,000
TH 5,000,000
401 Al HIZ 2018 5,000,000 3,000,000 2,000,000
TH 5,000,000
01 A& HI 5,000,000 3,000,000 2,000,000
o= AUN=2 AE 5,000,000
T 5,000,000
dF ZEAEESHIE HE 2,500,000 0 2,500,000
J| 1,000,000




A YD
g s 243
22 MSUEANE X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 1,500,000
401 A& HIZ 201 I 2,500,000 0 2,500,000
J| 1,000,000
< 1,500,000
01 A& HI 2,500,000 0 2,500,000
OXz 2SI HE 2,500,000
J| 1,000,000
< 1,500,000
n3as==sd =4 192,000 40,000 152,000
s 192,000
401 AIEHI L 2 CHYI 192,000 40,000 152,000
as 192,000
01 A& HI 192,000 40,000 152,000
om3az==f x4 192,000
s 192,000
LHl==2& =4 210,000 50,000 160,000
s 210,000
401 AIEHI L 20HEI 210,000 50,000 160,000
s 210,000
01 A& Bl 210,000 50,000 160,000
oudlZ2=® x4 210,000
s 210,000
HEAE |X2c 196,000 190,000 6,000
201 LB-2dH| 196,000 190,000 6,000
02 =224l 196,000 190,000 6,000
OMSAE HX2e 9,000
OAUN=2 HRE 187,000
HSALE A3 883 9,290,185 9,165,242 124,943
9 HMES 8,648,185 8,667,742 A 19,557
01 SAL- SHINTES 8,648,185 8,667,742 A 19,557
OMsSAL2H 2L 8,648,185
404 BABHREHES 642,000 497,500 144,500
01 BA- BHI=2EEZ 642,000 497,500 144,500
OMSAZ2a&E AIEXE 642,000
D2USAE HUGFNCG - H 40,000 40,000 0
401 AIEHI L 2 CHYI 40,000 40,000 0
01 A& HI 40,000 40,000 0
OXM=EA&E B2 B4 40,000
MSANE 21298 100,000 200,000 £100,000
401 AIEHI L 2CHYI 100,000 200,000 2100, 000

- 22 -




S RS = Faig=a i,
g s 243
g2l MsASAE XS (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 100,000 200,000 A 100,000
OMSAE cl2gd 100,000
FEZHIE NEEHAL &EF A 16,000 0 16,000
401 A& HIZ 2018 16,000 0 16,000
01 A& HI 16,000 0 16,000
OEEZIEIE NSEHAL & A 16,000
BEZFZINE AME E= 500,000 1,860,000 A 1,360,000
401 AIEHI L 2] 500,000 1,860,000 A 1,360,000
01 A& HI 500,000 1,809,000 A 1,309,000
OFEZEIIE ME E= 500,000
YHHIE 2 SHMH 580,000 20,000 560,000
J| 180,000
Al 400,000
401 Al HI K 201 I 580,000 20,000 560,000
J| 180,000
Al 400,000
01 A& HI 580,000 20,000 560,000
oYM B4 FHNMA 580,000
J| 180,000
Al 400,000
SIHEANE HESTA (a2 SE2 AILN 500,000 0 500,000
“)
401 Al HI X 201 500,000 0 500,000
01 A& HI 500,000 0 500,000
OSBMEAE HEXNI (SMHUS2 &2
ANEIHA) 500,000
Alfelte s3I E S#FMA 700,000 300,000 400,000
401 AIEHIZL 2 CHEI 700,000 300,000 400,000
01 A& HI 698,000 298,800 399,200
Oalfeletel S E &3HH 698,000
03 A& 2 THHI 2,000 1,200 800
oauoetlEdEIE S#FHd 2,000
HY2HAH (M) 61,776 61,776 0
Jl2d (M=) 61,776 61,776 0
JlEdul (s ) 61,776 61,776 0
201 Let24] 31,656 31,656 0
01 At 2t 2l 26,656 26,656 0
O el 13,600
O= &l 13,056
02 =224l 5,000 5,000 0
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<

n0

Kio

Hl w

H3r
Wikd
RIS

26,520
26,520

3,600
3,600

Off &t 24

5,000

26,520
26,520
26,520

3,600
3,600
3,600

.

ol
Xl

w0
=

01 SLHOYI

202 o4 Hl

&J
KE
ok
3l
H

KJ
KE
OF
oD

128
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